Measuring trees

Tree height

There are several ways of doing this. Here are two of them:

Using a clinometer
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Walk away from the tree until you can form an angle of 45o between the top of the tree and your eye


  (b)

(a)


The height of the tree in metres will be: 

Your distance from the tree in metres plus the distance from your eye to the ground in metres, that is (a) + (b)

Using a ruler and a friend:

1. Hold a ruler straight out in front of you and line it up with the tree. Make sure that you can fit the whole tree into the length of the ruler!

2. Ask a friend to stand under the tree and record

· how many centimetres tall he or she seems to be on the ruler

· how many centimetres the tree seems to be on the ruler

3. Now do this sum:

a. Work out your friend’s real height in centimetres divided by what he or she measured on the ruler

b. Then multiply this figure by the height of the tree on the ruler.

For example: your friend is 1.5m tall (150 centimetres). He or she measures 2 centimetres on the ruler. The tree measures 25 centimetres on the ruler.

The height of the tree is:




X  25   =  1875 centimetres or 18.75 metres

Using a ruler and a 2m ranging pole

1. Hold a ruler straight out in front of you and line it up with the tree. Make sure that you can fit the whole tree into the length of the ruler!

2. Ask a friend to stand under the tree, holding a ranging pole vertically against the trunk, and record

· how many centimetres tall the ranging pole seems to be on the ruler

· how many centimetres the tree seems to be on the ruler

3. Now do these calculations:

· divide the apparent height of the tree in cm by the apparent height of the ranging pole in cm

for example tree appears to be 30cm, ranging pole appears to be 5cm so calculation is 30/5 = 6

· multiply the result by the actual height of the ranging pole (2m) so the calculation is 6 x 2 = 12 and the height of the tree is 12m.

Girth (circumference) of the tree trunk

This is usually measured 1.3 metres above the ground and is the distance round the trunk.

Tree canopy

Measure the broadest spread of the canopy, for example:


A bird’s eye view!
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